### INDIAN INSTITUTE OF TECHNOLOGY ROORKEE

### NPTEL

# NPTEL ONLINE CERTIFICATION COURES

### **Nonlinear Programming**

# Lec – 03 Properties of Convex Functions-II

# Dr. S.K. Gupta Department of Mathematics Indian Institute of Technology Roorkee

So welcome to the lecture series on nonlinear programming we have already seen what convex functions are and we have seen some of the important properties of convex functions, now we will see some more properties of convex functions, so epigraph we have already defined what epigraph is epigraph is nothing but epigraph of function f.

(Refer Slide Time: 00:43)

 $E_{j} = \begin{cases} (x, a) : x \in S, d \in R, f(x) \leq d \end{cases}$  $\leq |R^{n+1}|$ 

Is nothing but all those  $x\alpha$  such that x belongs to s  $\alpha$  is any real number and  $f(x) \le \alpha$  this is what epigraph means epigraph is epigraph or function f is nothing but all those  $x\alpha$  such that x belongs

to a set s  $\alpha \in R$  and  $f(x) \le \alpha$  and it is nothing but a subset of RN + 1 that we have already seen because this s belongs to RN and  $\alpha \in R$  so this is nothing but this tip late will belongs to this toper will  $\in RN + 1$ .

(Refer Slide Time: 01:36)



Now to show now next theorem states that that if S be a convex subset of RN and f is a function from S to R then F is a convex function on S, if and only if it is epigraph EF is a convex set. So this is the next theorem of the result that F is a convex function on S f on S if and only if its epigraph is a convex set, now how to prove this let us see okay.



So f is a convex function on S, if and only if it is epigraph is a convex set, so this is to show now how to show this, so first we will take that f is a convex function and then we will try to show that except a graph is a convex set and then we will take that is epigraph is a convex set and try to show that this function is a convex function, now the first part is first is let f be a convex function okay on S, now since f is a convex function this means  $f(\lambda x_1) + 1 - \lambda x_2 \le \lambda f(x_1) + 1 - \lambda x_2 f(x_2)$  for all  $x_1 x_2$  in S and  $\lambda$  between 0 and 1 okay.

This is by the definition of the convex function that f is a convex function if  $f(\lambda x_1) + 1\lambda x_2 \le 2\lambda f(x_1) + 1 - \lambda x_2$  and this must hold for all f1 S2 in S and  $\lambda$  between 0 and 1, now what we have to show we have to show that if f is a convex function then it is epigraph is a convex set to prove this take two arbitrary points in the epigraph in the set that is epigraph and try to show that the convex linear combination of those two point is in s okay.

So let  $x_1$ ,  $\alpha_1$  and  $x_2$ ,  $\alpha_2$  are in epigraph of the function f because the points which are in epigraph are like this x,  $\alpha$  types so it will be  $x_1$ ,  $\alpha_1$  and  $x_2$ ,  $\alpha_2$  let us suppose it belongs to this epigraph so it means it means that  $f(x_1) \leq \alpha_1$  and  $f(x_2) \leq \alpha_2$  by the definition of epigraph okay, now take the convex linear combination of these two points okay, the converse linear combination will be nothing but  $\lambda$  or x of first point and  $1 - \lambda$  times of second point and say it is some x,  $\alpha$  for  $\lambda$  between 0 and 1 okay.

So let us suppose the converse near combination we represent this by x,  $\alpha$  so what will be x will be  $\lambda x_1 \lambda x_1 + 1 - \lambda x_2$  and what will be  $\alpha$  will be  $\lambda \alpha_1 + 1 - \lambda \alpha_2$  now to show that it is a convex set we have to simply show that x,  $\alpha$  belongs to epigraph that is ef okay that means we have to show that  $f(x) \leq \alpha$  so take f(x) and try to show that it is  $\leq \alpha$  so what will be f(x) will be nothing but  $f(\lambda x_1) + 1 - \lambda x_2$  and by the definition of convex function it is  $\leq \lambda f(x_1) + 1 - \lambda f(x_2)$  and  $f(x_1) \leq \alpha_1$ and  $f(x_2) \leq \alpha 2$  because these points are in the epigraph of f so this implies that is  $\leq \lambda \alpha 1 + 1 - \lambda \alpha 2$ because these  $\lambda n 1 - \lambda$  are non-negative values they are lying between 0 and 1 okay.

So and this is nothing but  $\alpha$  this is nothing but  $\alpha$  so we have shown that f of  $x \leq \alpha$ , so this means if f of  $x \leq \alpha$  this means x,  $\alpha$  will belongs to the epigraph, so this implies x,  $\alpha$  will belongs to epigraph of the function f and that means epigraph is a convex set okay, so in this way we can we can say that a function is a convex function that is then its epigraph is a convex set, now we will do that we will try to prove the converse part we will take that a epigraph is a convex set and we will try to obtain this function f is a convex function.

(Refer Slide Time: 07:11)

$$f \quad (s \quad convex \quad foundames)$$

$$\Rightarrow \quad \xi_{f} \quad (u \quad convex - set)$$

$$(ut \quad \xi_{f} \quad (u \quad convex - set)$$

$$(ut \quad \xi_{f} \quad (u \quad convex - set)$$

$$(ut \quad \xi_{f} \quad (u \quad convex - set)$$

$$(ut \quad (u, + (u)) \quad (u, + (u_{2})) \in \xi_{f} \quad (u \quad dec)$$

$$\Rightarrow \quad (\lambda^{(u, + (u-\lambda))u_{u}}, \quad \lambda^{(u, + (u-\lambda))+(u_{u})}) \in \xi_{f}$$

$$= (\lambda^{(u, + (u-\lambda))u_{u}}, \quad \lambda^{(u, + (u-\lambda))+(u_{u})}) \in \xi_{f}$$

$$= (\lambda^{(u, + (u-\lambda))u_{u}}) \in \lambda^{(u, + (u-\lambda)+(u_{u}))} \in \xi_{f}$$

$$= (\lambda^{(u, + (u-\lambda))u_{u}}) \in \lambda^{(u, + (u-\lambda)+(u_{u}))} \in \xi_{f}$$

$$= (\lambda^{(u, + (u-\lambda))u_{u}}) \in \lambda^{(u, + (u-\lambda)+(u_{u}))} \in \xi_{f}$$

Now let us see so now for converse part let epigraph of the function f be a convex set okay, now we have to show that functions of convex function so if it is epigraphs the convex function take two arbitrary points now  $x_1$ ,  $f(x_1)$  and  $x_2$ ,  $f(x_2)$  will definitely belongs to epigraph of f this is because it is  $\alpha$  it is  $\alpha_1$  now  $f(x_1) \leq \alpha$  this is obviously true because equality holds okay if it is  $\alpha$   $f(x_1) \leq \alpha$  as  $f(x_1), f(x_2) \leq f(x_2)$  it is obviously hold.

So these point definitely belongs to a epigraph of the function f now it is given towards there the epigraph is a convex set so this means this implies  $\lambda$  times the first point and 1 - $\lambda$  times the second point must belongs to the epigraph for  $\lambda$  between 0 and 1 okay so this implies  $\lambda x_1 + 1 - \lambda x_2$  and  $\lambda f(x_1) + 1 \lambda f(x_2)$  must belongs to the epigraph of the function f okay, now it belongs to the epigraph means what if x ,  $\alpha$  belongs to the epigraph this means  $f(x) \leq \alpha$  so this is this is some x and this is  $\alpha$  okay.

So this x , $\alpha$  belongs to the epigraph means  $f(x \le \alpha \text{ so } f(x) \text{ is } f(x) x \text{ is this quantity this quantity this term } \le \alpha$  and  $\alpha$  is this quantity  $\lambda f(x_1) + 1 - \lambda f(x_2)$  and this implies that f is convex is the convex function on s because  $x_1$  and  $x_2$  or any arbitrary points this means this is it hold for any  $x_1$  and  $x_2$  and hence function is a convex function on this s so in this way we can say that if epigraph or function is a convex set then also we can say that a function is a convex function okay.

So if we have to show to the function is a convex function either we use our definition of a convex function which is  $f(\lambda x_1) + 1 - \lambda x_2 \le \lambda f(x_1) + 1 - \lambda f(x_2)$  or we can also find the epigraph and try to show that epigraph of the function as is a convex set okay, now similarly using hypo graph I hypo graph is a hypo graph or function f.

(Refer Slide Time: 10:27)



Is nothing but all those that is  $\alpha$  so the  $S \in s \alpha \in R$   $f(x) f(x) \leq \alpha$  so this is hypo graph function f so if S is a convex set and f is a function from S to R then f is a concave function on S if and only if it is hypo graph is a convex set so the proof of this can also be obtained on the same lines on the lines of the proof which we did earlier okay so in order to prove that a function of a concave function find it is hypo graph and try to show their a hypo graph of the function f is a convex set okay. (Refer Slide Time: 11:14)



Now we have a result now let  $f_i$  be a family of functions which are convex and bounded from above on a convex set S subset of  $\mathbb{R}^n$  then the function which is given by a supreme of  $f_i$  is also a convex function, so let us try to prove this so for example suppose you are taking maximum of x and  $x^2$  okay.

(Refer Slide Time: 11:46)



Now both functions are convex x is a linear function it is convex a function from R to  $R x \in R x^2$  is also a convex function that we have also seen that  $x^2$  is a convex function and maximum of two convex functions also convex okay that we can easily show we can easily see graphically see x, y = x is this line okay and  $y = x^2$  is this intersection point okay now what is the supreme of this function supreme of this function is if it is function from say from 0 to 2, so 0 to 2 it is nothing but from here to here this is the maximum value when it is 1 okay and from 1 to 2 this is the maximum value this curve.

So this shaded line and this is the maximum or the function from 0 to 2 say a 2 is here okay, say 2 is somewhere here so the maximum of maximum of x and  $x^2$  is this function now if we take the epigraph of this function, so f is rap of this function is nothing but this set and which is convex and since it is convex, so we can say by the depth by the theorem that the concerned function if it is a function f then this function is a convex function.

So this is the theorem that the supreme of  $f_i$  is also a convex function the proof is very simple can be obtained it is start to obtain the proof.

#### (Refer Slide Time: 13:44)

 $x \in S$ ,  $a \in R$ ,  $f_i(x) \leq a$ ,  $\forall i$ 

Now  $f_i$  are convex  $f_i$  are convex functions on S for all I so this implies because we know a theorem that a functions are convex then the epigraph is a convex set so this implies  $e(f_i)$  are convex set for all i, and since it is a convex set, so this means intersection is also a convex set because intersection of any number of convex set is also convex okay, now let us see the intersection of  $e(f_i)$  what this represent this is nothing but all those x  $\alpha$  such that  $x \in s \alpha \in R$  and  $f_i x \leq \alpha$  for all i, a is convex set the intersection of  $e(f_i)$  is a convex set.

What does intersection represent intersection of  $e(f_i)$  represent all those  $x\alpha$  so  $S \in S \alpha \in R$  and  $f_ix \le \alpha$  for all i, because it is the intersection that means for all i, is a convex set, now if it is true for all i, this means it will be equals to it reduced equal to supreme of i, also supreme i, does not goes to  $\alpha$  is also a convex set okay and this is nothing but is requests to all those  $x\alpha$  so that  $x \in S$   $\alpha \in R$  and supreme of  $f_i$  is nothing but f(x).

So it is  $f(x) \le \alpha$  is a convex set, so this means this means epigraph of f where f is nothing but supreme of  $f_i$  is a convex set and since epigraph of f is a convex set this means f is a convex function convex function on S okay because we know that if epigraph of function is a convex set this means the function is a convex function and since epigraph of f is a convex set, so this implies the concern per a function the corresponding function is a convex function and what is the corresponding function it is nothing but supreme of  $f_i$ 

So hence we can say that if we have a collection of a convex functions their supreme of the convex functions is also convex okay, now let us define differentiable convex functions.

(Refer Slide Time: 17:10)



If let s be a function from S to R be differentiable at  $(\overline{x}) \in S$  where S is the open subset of R<sup>n</sup> for  $x + (\overline{x}) \in S$  f(x) +  $(\overline{x}) = f(\overline{x}) + x^T$  gradient of  $f(\overline{x}) + \alpha$  is a function of  $(\overline{x})$  and S and norm of x where this term will tend to 0 as x tending to 0, so this is how we define a function is once differentiable at  $(\overline{x}) \in S$  okay what is great of f(x)bar gradient of  $f(\overline{x})$  is a vector basically.

(Refer Slide Time: 18:04)

$$\nabla f(\bar{x}) = \left(\frac{\partial f}{\partial x_{i}}, \frac{\partial f}{\partial x_{i}}, \dots, \frac{\partial f}{\partial x_{n}}\right)$$
$$\nabla^{1} f(\bar{x}) =$$

So gradient of  $f(\overline{x})$  is nothing but  $\nabla f / \delta x_1 \delta f / \delta x_2$  and  $\delta f / \delta x$  so this is greater of  $f(\overline{x})$  okay now if a function is twice differentiable at  $(\overline{x})$  then  $f(x) + (\overline{x})$  is  $= f(x) + x^T$  gradient of  $f(\overline{x}) +$ half of this term  $+ \beta(\overline{x}) x$  norm of  $x^2$  we are this termOS as extending to 0, so this is how we can define the function f a function is once or twice differentiable at  $(\overline{x})$  okay now what is what is gradient square of  $f(\overline{x})$  that is defined this thing also gradient square of  $f(\overline{x})$  is nothing but a matrix. (Refer Slide Time: 19:02)



And we call it Hessian matrix of F at  $(\bar{x})$  and what it is it is nothing but  $\delta^2$  of upon  $\delta x 1^2 \delta^2 F$  upon  $\delta x 1 \delta x_2$  and so on  $\delta 2F$  upon  $\delta x 1 \delta x_1$  then  $\delta^2 F$  upon  $\delta x 2 \delta x 1 \delta^2 F$  upon  $\delta x^2$  and so on.  $\Delta^2 F$  upon  $\delta x_2 \delta x_1$  and it is  $\delta 2 F$  upon  $\delta x 1 \delta^2 F$  upon  $\delta x n \delta x_2$  and so on  $\delta^2 F$  upon  $\delta x$  and squares, so this is how we can define our n cross n and cross an symmetric methods a symmetric matrix which we call as he Hessian matrix set of f at  $(\bar{x})$  okay this is gradient square of F at  $(\bar{x})$ .

(Refer Slide Time: 20:23)



Now we have our next result for a convex function which is if f is a function from S to R which is differentiable function on a open convex subset S of RN, then the function f is a convex function if and only if f of  $x_1 - f x_2$  is greater than equals to  $x_1 - x_2^T$  gradient of  $fx_2$  and this should hold for all S is belongs to S, so now let us start to prove this result so what this result is basically.

## (Refer Slide Time: 21:01)



This is  $f(x_1) - f(x_2)$  is greater equal to  $x_1 - x_2^T$  gradient of  $fx_2$  and this should hold for all  $x_1 x_2$  belongs to this, and what we have to show that f is the convex function on S if and only if this happens okay. So first let us assume that f is a convex function and we will try to show that this result hold okay, so first let f be a convex function one is okay. Let f be a convex function on S, so convex function means f of  $\lambda x_1 + 1 - \lambda x_2$  must be less than equals to  $\lambda f x_1 + 1 - \lambda f x_2$  for all S1 S2 in S and  $\lambda$  between 0 & 10kay.

Now what is f of  $\lambda x_1 + 1 - \lambda x_2$  it is nothing but S can be written as f of  $\lambda x_1 - x_2 + x_2$ , you can take this  $\lambda$  common from these two terms it is  $\lambda$  of  $x_1 - x_2 + x_2$ , now it is given towards that function is differentiable, differentiable on an open convex set S of R and this means differentiable for all points in S okay. So if it is differentiable this means this means the first. (Refer Slide Time: 23:00)



Result holds okay, so let us try to use this result.

f is convertional 🖶  $\frac{1}{2} \left( x_{k} \right)^{-1} - \frac{1}{2} \left( x_{k} - x_{k} \right)^{T} \nabla \left( x_{k} \right)^{-1} + \frac{1}{2} \left( x_{k} \right)^$  $\frac{1}{2} \left( \lambda^2 x_1 + \left( \left( -\lambda \right) \right)^2 x_2 \right) = - \frac{1}{2} \left\{ \frac{1}{2} \left( \frac{x_1 - x_2}{x_1} + \frac{x_2}{x_2} \right), \quad = - \frac{1}{2} \left( \frac{x_1 - x_2}{x_2} + \left( \lambda(x_1 - x_1) \right)^2 \left( \frac{x_1 - x_2}{x_1} + \frac{x_2}{x_2} \right) \right) \right\} \\ = - \frac{1}{2} \left( \frac{1}{2} \left( \frac{x_1 - x_2}{x_1} + \frac{x_2}{x_2} \right) \right) = - \frac{1}{2} \left( \frac{x_1 - x_2}{x_2} + \frac{x_2}{x_2} \right) = - \frac{1}{2} \left( \frac{x_1 - x_2}{x_2} + \frac{x_2}{x_2} \right) = - \frac{1}{2} \left( \frac{x_1 - x_2}{x_2} + \frac{x_2}{x_2} \right) = - \frac{1}{2} \left( \frac{x_1 - x_2}{x_2} + \frac{x_2}{x_2} \right) = - \frac{1}{2} \left( \frac{x_1 - x_2}{x_2} + \frac{x_2}{x_2} + \frac{x_2}{x_2} \right) = - \frac{1}{2} \left( \frac{x_1 - x_2}{x_2} + \frac{x_2}{x_2} + \frac{x_2}{x_2} \right) = - \frac{1}{2} \left( \frac{x_1 - x_2}{x_2} + \frac{x_2}{x_2} + \frac{x_2}{x_2} \right) = - \frac{1}{2} \left( \frac{x_1 - x_2}{x_2} + \frac{x_2}{x_2} + \frac{x_2}{x_2} \right) = - \frac{1}{2} \left( \frac{x_1 - x_2}{x_2} + \frac{x_2}{x_2} + \frac{x_2}{x_2} \right) = - \frac{1}{2} \left( \frac{x_1 - x_2}{x_2} + \frac{x_2}{x_2} + \frac{x_2}{x_2} \right) = - \frac{1}{2} \left( \frac{x_1 - x_2}{x_2} + \frac{x_2}{x_2} + \frac{x_2}{x_2} \right) = - \frac{1}{2} \left( \frac{x_1 - x_2}{x_2} + \frac{x_2}{x_2} + \frac{x_2}{x_2} \right) = - \frac{1}{2} \left( \frac{x_1 - x_2}{x_2} + \frac{x_2}{x_2} + \frac{x_2}{x_2} \right) = - \frac{1}{2} \left( \frac{x_1 - x_2}{x_2} + \frac{x_2}{x_2} + \frac{x_2}{x_2} + \frac{x_2}{x_2} \right) = - \frac{1}{2} \left( \frac{x_1 - x_2}{x_2} + \frac{x_2}{x_2} + \frac{x_2}{x_2} + \frac{x_2}{x_2} \right) = - \frac{1}{2} \left( \frac{x_1 - x_2}{x_2} + \frac{x_2}{x_2} + \frac{x_2}{x_2} + \frac{x_2}{x_2} + \frac{x_2}{x_2} + \frac{x_2}{x_2} + \frac{x_2}{x_2} \right) = - \frac{1}{2} \left( \frac{x_1 - x_2}{x_2} + \frac{x_2}{x_2} + \frac{x_2}{x_$  $\begin{array}{l} \Rightarrow \ t(x_1,x_2)^T \ \nabla \ t(x_2) + \ \ll \left(\lambda(x_1,x_2), x_2\right) \ \lambda \ || x_1,x_1|| \ \leq \ \lambda \ t(x_1) + \ t(x_2) - \lambda \ t(x_2) \\ \Rightarrow \ (x_1,x_2)^T \ \nabla \ t(x_2) + \ \ll \left(\lambda(x_1,x_2), x_2\right) \ || x_1,x_2|| \ \leq \ t(x_1) - \ t(x_2) \\ \lambda \ \Rightarrow 0 \\ \Rightarrow \ (x_1,x_2)^T \ \nabla \ t(x_2) \leq \ t(x_1) - \ t(x_2) \end{array}$  $\in \lambda \neq (x_1) + (1-\lambda) \neq (x_2)$ 

So here suppose this is x this quantity is x and this is x bar okay so you use this result it is x it is  $(\bar{x})$  so it is equal to f of  $(\bar{x}) + x$ ,  $x^T$  gradient of  $fx_2 + \alpha$  times  $(\bar{x})$  and x and norm of  $\lambda x_1 - x_2$ . Okay this is simply by this result okay, and where this limit tending to 0 where as limit of  $\lambda x_1 - x_2$ ,  $x_2$  will be equal to 0 as  $\lambda$  tending to 0 here. So f of  $x + (\bar{x})$  is equal to f of  $(\bar{x}) + (\bar{x})^T$  fx gradient of  $(\bar{x}) + \alpha$  function of  $(\bar{x})$  and x and norm of x okay, so now this is equals to now this quantity from this expression is greater than is less than or equal to  $\lambda fx_1 + 1 - \lambda f$  extreme okay.

From this expression this quantity is less than equal to means this code this is equal to this means this quantity expression is less than if I show this quantity, so what we obtain from here this implies f of  $x_2 + \lambda$  times  $x_1 - x_2^T$  because  $\lambda$  is a scalar we can take it out and it is gradient of  $fx_2 + \alpha$  of  $\alpha$  function of  $\lambda x_1 - x_2$ ,  $x_2$ , now  $\lambda$  can take out because it is between 0 & 1 and norm of  $x_1 - x_2$ which is less than or equal to  $\lambda fx_1 + fx_2 - \lambda fx_2$  you multiply  $fx_2$  here now this f ( $x_2$ ) and f ( $x_2$ ) cancels out from both the expressions you divide by  $\lambda$  throughout so what we obtain we obtain that  $x_1 - x_2$ .

Whole transpose gradient of  $fx_2 + \alpha\lambda x1$  into  $x_2$ ,  $x_2$  norm of  $x_1$ -  $x_2$  is less than equals to  $fx_1$ -  $fx_2$  okay, now as now take  $\lambda$  10 to 0 both the sides if you take ramp 10 to 0 both the site or this term

will turn to 0 if the taking  $\lambda 10$  to 0 implies  $x1 - x_2$  whole transpose gradient of  $fx_2$  is less than or equal to  $fx_1 - fx_2$  okay, so we have proved the first part so we have taken data to the convex function and we have obtained net f of  $x_1 - fx_2$  Is greater than equals to  $x_1 - x_2^T$  gradient  $fx_2$  okay now we will try to show the converse part okay.

So in the converts part we will suppose at this condition hold and try to obtain if the function is a convex function.

(Refer Slide Time: 27:06)

f is convex functionals (=)  $\frac{1}{2} \begin{pmatrix} x_1 \end{pmatrix} - \frac{1}{2} \begin{pmatrix} x_2 \end{pmatrix} & 2 & \left( \begin{array}{c} x_1 - x_2 \end{array} \right)^\top \nabla \cdot f(x_1) & + \begin{array}{c} x_1 & x_2 & \in \mathcal{I} \\ \end{array}$  $\chi=\lambda\chi+(1-\lambda)\kappa_{1},\quad\lambda\in[0,1].$  $f(x_1) - f(x) \ge (x_1 - x)^T \forall f(x)$  $= (i - \lambda) (x_i - x_k)^T \nabla f(a) \quad (i)$  $f(x_{1}) = f(x_{1}) \ge (x_{1} - x_{1}^{T} > f(x_{1})$ x (x,-x,) + f(x) - 0  $\lambda \times (1 + (1 - \lambda) \times (2))$ , we get  $\lambda \uparrow (s_1) \sim \lambda \uparrow (s) + (1-\lambda) \uparrow (s_1) - (1-\lambda) \uparrow (s) \geq 0$  $= \frac{1}{2} \lambda f(x_1) + (1-1) f(x_2) \ge f(x) - f(\lambda x_1 + (1-\lambda) x_2)$ 

So let  $x = \lambda fx x_1 + 1 - \lambda x_2$  we are  $\lambda$  between 0 and 1 now this inequality hold for every x1 and  $x_2$  and x is a convex sub set of RN okay. So this will hold for  $x_1$  and x also so if we apply for x1 for x so this will be greater request to  $x_1 - x^T$  gradient of fx okay because we have supposed that this condition hold this condition hold means this inequality hold for all  $fx_1 x_2$  in S and we have to show that the concern the corresponding function f is the convex function okay, so we have so this result will hold for xy and x also.

So we have applied this result for xy and x so we obtain this thing so what it is equal to it is equal to it is equal to  $x_1 - x$ , x or -x will be nothing but 1 -  $\lambda$  times  $x_1 - x_2^T$  gradient of f suppose

it is a first expression, now the same result will also hold for  $x_2$  and x okay. Because it is holding for all  $x_1$  and  $x_2$  in S and this is in S because S is a convex set okay, so  $fx_2 - fx$  again will be greater than equal to  $(x_2 - x)^T$  gradient of f of x, now what is  $x_2 - x$  when you compute  $x_2 - x$  so it will be nothing but it will be nothing but  $x_2$  - x will be nothing but -  $\lambda$  times x1 - x<sub>2</sub>.

Whole transpose gradient of effects okay, now we have to obtain that we have to derive that function is a convex function that means f of  $\lambda x_1 + 1 - x_2$  is less than equals to  $\lambda f x_1 + 1 - \lambda x_2$  is fx<sub>2</sub> so we have to obtain that result so you multiply this with  $\lambda$  and this with  $1 - \lambda$  okay multiply 1 with  $\lambda$  and 2 with 1 -  $\lambda$ , and add them so what we obtain what we obtain we get  $\lambda$  of fx<sub>1</sub> -  $\lambda f x$  from this side  $+ 1 - \lambda f x_2 - 1 - \lambda f x$  is greater than equals 2. Now when you want apply this with  $\lambda$  and this with this is  $\lambda$  this with  $1 - \lambda$  and adds them, so both things will cancel out so we will get 0 on the right hand side okay.

So what we obtain from here this implies  $\lambda fx_1 + 1 - \lambda fx_2$  will be greater than or equals to  $\lambda fx$  and  $\lambda fx$  will cancel out, so this will be written goes to fx and x is nothing but the converse near combination of x1 x2 which is nothing but is equal to f of you substitute the value of x and x as this quantity, so it is  $\lambda x_1 + 1 - \lambda x_2$ . So hence we have obtained that f of  $\lambda x_1 + 1$  and  $\lambda x_2$  is less than or equal to  $\lambda fx_1 + 1 - \lambda fx_2$  this implies f is a convex function okay. So we can easily see that if f is a convex function.

(Refer Slide Time: 31:18)



Then f of  $x_1 - f$  of  $x_2$  will be getting close to x 1 -  $x_2^T$  gradient of fx<sub>2</sub>, now what this expression geometrically indicates, let us see okay.

(Refer Slide Time: 31:47)



Let us see what this what this expression geometrically indicates, so you draw you draw the function f take a point  $x_2$  suppose this is  $x_2$  draw a tangent at this point tangent will be nothing but this go on this straight line okay, take another point say  $x_1$  here. So what this will be this length so from here to here it is  $x_2$  from here to here it is  $x_1$  so it will nothing but  $x_1 - x_2$  want it okay, so what is the equation of this line. Now at the point  $x_2$ , f $x_2$  the equation of the line will be nothing but  $y - fx_2$  is equals to M, M the slope of the line slope is f'  $x_2$  and  $x - x_2$  okay. Now we want to find out we want to find out this point we want to find out this point so this one will nothing but the substitute x as  $x_1 x$  as  $x_1$ .

So what we obtain the y will be nothing but fx  $fx_2 + x_1 - x_2$  f'  $x_2$ , so this if you are taking as this says  $x_1$ , y so this y is nothing but this expression and you can easily see that this point is nothing but  $x_1$ , f $x_1$  so  $x_1$  is  $f_{x1}$  is this height fx1 and this is fy it difference y okay. So f $x_1$  and f $x_1$  is greater than equals to y, so fx1 is greater than equals y means this expression gradient of for the first years it is derivative this expression means this result. So that means that if you draw a tangent at any point on the convex function.

They are tangent always lies below the curve, if you take because this length is always less than at this length so that means if you have a convex function and you draw a tangent at any point on the convex function they are tangent always lies below the curve okay, so this is geometrical interpretation of this inequality. So we can prove some functions to be convex using this expression also how so let us see one example.

(Refer Slide Time: 34:45)



Suppose you have to show that function  $x^2$  where x belongs to R is a convex function, so we have already seen that we can also show we can show this as a convex function simply by applying the definition of the convex function but we can also show this to be convex using this result using this result. Now let us see what is  $fx_1 - fx_2 - x_1 - x_2^T$  derivative of  $x_2$  because it is in R okay and we have to show that this quantity is greater than equal to 0 then we can say by the serum net function is the convex function.

So what is expression is for this function it is  $x1^2 - x2^2 - x1 - x2$  what a derivative of this function x2 it is 2 x2, so this is nothing but  $x1^2$  and this is  $+x2^2 - 2x1 x2$  which is nothing but x1 - x2 whole squares and with the equal to 0 always for all x1 x2, so this implies function is a convex function because this inequality must be greater than equal to 0 and that we have shown

that for this function  $x^2$  this inequality is greater than equal to 0. Hence we can say there is a given function  $x^2$  is a convex function, so sometimes to prove that a function is a convex function we can also use this definition okay so we will see some more popular convex function in the next class so thank you.

For Further Details Contact Coordinator, Educational Technology Cell Indian Institute of Technology Roorkee Roorkee – 247667 E Mail: <u>etcell.iitrke@gmail.com</u>. <u>etcell@iitr.ernet.in</u> Website: <u>www.iitr.ac.in/centers/ETC</u>, <u>www.nptel.ac.in</u>

Camera

Jithin. K

Graphics

Binoy. V. P

Online & Video Editing

Mohan Raj. S

Production Team Sarath Koovery Arun. S Pankaj Saini Neetesh Kumar Jitendar Kumar Vivek Kumar Nibedita Bisoyi An Educational Technology cell IIT Roorkee Production © Copyright All Rights Reserved